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1) There is some relationship between diagram A and B. The some
relationship persist between C & D. Find the Correct diagram
for D from the altematives (in Questions 1 to 5). nafelz]N]|
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6) Choose the figure which is different (in Questions 6 to 9) 14)
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15) Unscramble the words given below to get the name of
the male of an animal - t,i, h, ¢, b.

A)Cow  B)Lion C)Horse D) Dog

16) Arrange the following letters to make a single word and then
choose the category to which it belongs.

TIBRAB
A)City B)Animal C) Vegetable D) Person
17) Which abacus shows one number less than 17 ?
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18) Which of the following can lead to a great risk of heart disease.
A) Regular Exercise B) Eating fatty foods
C) Fresh Food B) Wearing dirty Cloths
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19) Vitamin B deficiency in human diet causes,
A) Pemnicious anaemia, beri-beri, peliagra

B) Rickets, pellagra, beri-beri.

C) Night Blindness, Scurvy, beri-beri

D) beri-beri, Scurvy, pellagra
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20) Which among the following animals is viviparous,
AjLion B)Hen C)Cow D) Goat
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21) When no more salt can be dissolved in water at a particular
temperature in the solution, that solution is called.

A) Unsaturated  B) Saturated C) Sometimes Saturated
D) None of the above
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22) Read the following

activity and answer.

Take 5 g of solid camphor in a chain dish and cover it
with inverted funnel. Plug the stem of funnel with cofton.
Heat the dish. What happens ?

A) Sublimation  B) Evaporation
C) Crystallization D) Sedimentation
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23) Which of the following changes can be reversed?

A) Batter to Idli B) Bud to flower
C) Cowdung to biogas D) lce-Cream to molten inc-Cream
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24) Which reason is incorrect for separating components of a mixturé?
A) To separate two or more different but useful components

B) To remove undesirable and useless components

C) To remove pure or harmless components

D) To obtain pure sample of a substance
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25) Study the venn-diagram and identify the dot Change
A) Melting of Ice
B) Boiling of Water Permanent
C) Rusting Change
D) Condensation

Ireversible

Change
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26) Which of the following is/are involuntary movements?
A) Muscular movements in the food pipe

B) Beating of the heart

C) Movement of legs

D)BothAand B
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27) If someone touches the plant ‘Touch Me Not' and it bends
then we call it__

A) Rhythmic movement of abdomen

B) Mechanism of plant respiration

C) Reaction to stimuli

D) All of these
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28) Animals show locomotion but plants don't.
What is the reason for this?

A) Plants are autotrophs

B) Plants are heterotrophs

C) Plants have organs of defense
D) None of these
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29) Number of bones in a human vertebrae is
A)12  B)106 C)33  D)24

29) WrTa FAEH A fad shgsat o ¥
A)12  B)1os C)33 D)24

30) Spinning of a top is an example of
A) Rotatory motion B) Translatory motion
C) Vibratory motion D) Oscillatory motion
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31) Study the setup below
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Which of the following shows what the shadow will look like?
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32) An electric tester is used by the electrician to determine.

A) The Presence of electric current

B) Amount of electric current
C) The temperature of electric current
D) The rate of fiow of electric current
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33) What will happen when 3 bar magnets XYZ are hung in the
manner as shown below ?

[N]s] [N]s]
X N
A) Nothing will happen
B) Magnet Y will tumn round and round
C) Magnet Y will move towards magnet Z
D) Magnet Y will move towards magnet X

B

33) T g svR @ EE gk XYZ ) e @ 2 o

[N[S]
X
A) F& 78 B

B) g Y e gEm
C) g Y - Z %t T S
D) g Y I X &l TRE S

[N]s] [s]A]
Y Z

34) An Cactus plant, the leafy like structure in actualisa ___.
A) Leaf B)Root C)Flower D) Stem

34) e ¥ < e Ot &, o area ¥ @ e d 2
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35) In the sea, plants and animals are surrounded by____ waler.
A)Fresh  B) Saline C)Acidic D) Marshy

-

35) T et adT Sl @
Ao At B)@RI U C) sveliE D) Zewee art

36) Identify the gas “Odourless, Colourless, Heavier than air,
Supports combustion.
AN, B) O, C) Co, D) Water Vapous
36) Mg #t v - faar o1 ud e Al ol e d Wil S
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AN, B) O,

C) Co, D) Steramd




37) Clothes dry faster when there is water vapour in air.

A)less B)More C) Either more or less
D) none of these
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38) Scientific study of Micro-organises.

A) Anatomy B) Microbiology C) Biotic - D) Ecology

38) e SHal 1 27 -
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39) is the structural unit of living organism.
A) Cell B) Tissue C)Organ D) Body
39) ~------ S AN I Bl THATTH e

A) i B) IWH C) 3 D) ¥l

40) Which of the following move due to muscie expanding and
contraction.

A)Cockoach B)Wom  C)Fish  D)AI
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41) Dew is formed on leaves due o =

A) Evaporation B) Condensation  C) Vaporization D) All

42) Following substances are classified on the basis of different
properties of matter.

|) Frosted glass: Transparent, brittle & insutators

I1) Sponge: Soft, Opaque & Conductor

[11) Wood: Hard, Opaque and insulator

IV) Copper: Metal, Hard, Transparent, Conductor

Mark the incorrect one.
A) | only B) 1, 11 & Iil only
C) I, Il, IV only D) All of these
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|) Frosted glass: Transparent, brittle & insulators
II) Sponge: Soft, Opaque & Conductor

II1) Wood: Hard, Opaque and insulator
IV) Copper: Metal, Hard, Transparent, Conductor

e A
A) | only B) 1, Il & Il only
c)Lnwv only D) All of these

43) In an electric circuit, current can be increased by

A) Adding extra wire B) adding an extra switch
C) Removing a battery D) Reducing resistance
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44) Which of these is a set of good insulators?
A) graphite, wood, rubber B) rubber, glen wood
C) Pure water, glen, wood D) nppes, iron, silver

4d) 7 % A B oD SR -

A) T, TSI, TR B) &, Wi, @hgl

C) urdl, =il @Hg D) wtar, wirer, =l

45) Mated ovary forms these.

A) seed B) fruit C) Stamen D) Pistil
45)maizrmwm%

Ndm  Bwe  OmE¥w  D)gmAn

46) The intensity of an earthquake is measured witha .
A) Barometer B) Polygraph C) Hydrometer D) Seismograph

m)@wﬂmmamw%mw%
A)&irfier  B) el C)ewdnier D) fveim®

47) The process X, Y, Z respectively are
Plants —X_[water Vapour Y ! Rain | Z _ Ground Water
A) Transpiration, Precipitation, Seepage
B) Seepage, Precipitation, Condensation

C) Transpiration, Precipitation, Condensation
D) Evaporation, Seepage, Precipitation

48) Suppose you are making some tea and have boiled water and
added tea leaves to the water, Then you realized that you can't
find the strainer. You look for a clean piece of cloth, but do not
find one. What method would youliketoapp!yforawpoftea
without leaves?

A)Sieving  B) Evaporation C) Decantation D) Filtration

49) Which of the following statement is not true?

A) The process of making yam fibre is called spinning

B) Coir is obtained from outer covering of the fruit of coconut
C)Juteisa biodegradable product

D) Wood cannot retain air between its fibers and then it cannot
retain body heat

50) Micro organisms act upon the dead plants to produce.

A)Sand  B) Mushrooms C)Humus D) Wood
50) et ofta Wt el & T ?
A) ST B)ywaen  C)®A¥ D) Tl




